RANCH RADIO MARKETING GROUP 3505 FREDERICKSBURG RD. KERRVILLE, TEXAS 78028 (830) 896-4990

> KERR COUNTY REPUBLICAN PARTY 1226 BANDERA HWY KERRVILLE, TX 78028

HC PATRIOT Order Confirmatio

OrderID:

3539-003

Sponsor:

KERR COUNTY REPUBLICAN PARTY
KERR COUNTY REPUBLICAN PARTY

Product: Estimate/PO:

AccountRep:

COREENA HAZELETT

BillingCycle:

Calendar Month

InvoiceType:

Detail

Run Dates:

4/23/2024 - 5/4/2024

Items Ordered:

Ordered Amount: \$681.00

Scheduled Station(s): KRNH-HD2-HC PATRIOT KERR COUNTY REPUBLICAN PARTY

Pri	nted 4/22/2024 10:05:54	AM																	Page 1
	Run Dates	Run Weeks	Run Times		Mon	Tue	We	Thu	Fri	Sat	Sun	Week Total	Length	Descripti	Avail Type	Copy ID	Qty	Item Cost	Total Cost
01	4/23/2024 - 5/4/2024	All Weeks	06:00 AM - 0	09:00 AM	1	1	1	1	2			6	:30	Spot			11	30.00	330.00
02	4/23/2024 - 5/4/2024	All Weeks	02:00 PM - 0		1	1	1	1	1			5	:30	Spot			9	22.00	198.00
03	4/23/2024 - 5/4/2024	All Weeks	10:00 AM - 0	03:00 PM						3	3	6	:30	Spot			9	17.00	153.00
Π	Calendar Month Pro	ojected Billing	[Net]:																
	Apr-24	444.	.00	May-2	4			237.0	00			Jun-24		(0.00		Q2-2024		681.00

Confirmed Correct; Payment Guaranteed

Accepted for RRG

Ranch Radio Group does not discriminate in the sale of its advertising time and does not accept any advertising which is sought to be placed with it when the advertising is intended to involve discrimination on the basis of race, gender, age, national origin, ancestry, or ethnicity.

MUST CONFIRM RECEIPT IN WRITING

ORDER IS NOT VALID UNLESS SIGNED BY BOTH PARTIES

RANCH RADIO MARKETING GROUP

3505 FREDERICKSBURG RD. KERRVILLE, TEXAS 78028 (830) 896-4990

> KERR COUNTY REPUBLICAN PARTY 1226 BANDERA HWY KERRVILLE, TX 78028

KRNH Order Confirmation

OrderID: 3539-002

Sponsor:

KERR COUNTY REPUBLICAN PART

Product:

KERR COUNTY REPUBLICAN PARTY

Estimate/PO:

AccountRep:

COREENA HAZELETT

BillingCycle:

Calendar Month

InvoiceType:

Detail

Run Dates:

4/23/2024 - 5/4/2024

Items Ordered:

29

Ordered Amount: \$833.00

Scheduled Station(s): KRNH KERR COUNTY REPUBLICAN PARTY

Pri	nted 4/22/2024 10:05:09	AM																Page 1
	Run Dates	Run Weeks	Run Times	Mon	Tue	We	Thu	Fri	Sat	Sun	Week Total	Length	Descripti	Avail Type	Copy ID	Qty	ltem Cost	Total Cost
01	4/23/2024 - 5/4/2024	All Weeks	06:00 AM - 10:00 AM	1	1	1	1	2			6	:30	Spot			11	34.00	374.00
02	4/23/2024 - 5/4/2024	All Weeks	03:00 PM - 07:00 PM	1	1	1	1	1			5	:30	Spot			9	31.00	279.00
03	4/23/2024 - 5/4/2024	All Weeks	10:00 AM - 03:00 PM						3	3	6	:30	Spot			9	20.00	180.00
	Calendar Month Pre	ojected Billing	[Net]:															
	Apr-24	544	.00 May-2	24			289.	00			Jun-24		(0.00		Q2-2024		833.0

Confirmed Correct; Payment Guaranteed

Accepted for RRG

Ranch Radio Group does not discriminate in the sale of its advertising time and does not accept any advertising which is sought to be placed with it when the advertising is intended to involve discrimination on the basis of race, gender, age, national origin, ancestry, or ethnicity.

MUST CONFIRM RECEIPT IN WRITING

ORDER IS NOT VALID UNLESS SIGNED BY BOTH PARTIES

FORM F

ORDER INFORMATION FOR POLITICAL ISSUE ADVERTISING

The state of the s		
Station:	Kerrulle, TX	Date: 4.22.24
		T Country name legibly),
hereby request to purchase advertis		view relating to the following issue(s):
Endorsemo	ent of Roma	n Garcia For
Mayor o	f Kerrville	
Endorsem	ent of Barba	272 Dewell
*		unoil Place 4
I certify that this advertising:		
[Check one] Will Will Not		
	o any political matter of national imp federal office, and/or a national legis	ortance" (i.e., a legally qualified candidate lative issue of public importance).
If the advertising will communicate such matters below:	a message relating to any political ma	atter of national importance, please list <u>a</u>
Legally Qualified Candidate for Federal Office mentioned	Election for a Federal Office Mentioned	National Legislative Issue of Pubic Importance Mentioned
I hereby certify that the true identity advertising will be provided is:	y of the person or entity by whom or	on whose behalf payment for this

Toxas (see 100) r f [

I hereby certify that the following is a true and correct list of all the Executive Officers, Directors, or Executive Committee Members of the purchaser.

Name of Chief Executive Officers, Directors and/or Executive Committee Members of Payor	Position	Address
Itelen Herd	County Chair	1226 Bandera Hwy

I certify that all advertising purchased pursuant to this order will contain sponsorship identification consistent with all laws, and the station is hereby authorized to edit or reject any advertising as necessary to comply with relevant sponsorship identification requirements.

I certify that the advertising purchased pursuant to this request contains no untrue statement of fact and will not contain any false, libelous, slanderous, or defamatory material addressed to any individual or identifiable group. I hereby certify that the sponsoring organization has all rights necessary to use all materials included in the advertising provided under this agreement. I agree to indemnify and hold harmless station, its owners, employees and agents from any damage, loss or liability which might result from or be related to the broadcast of the advertising requested herein. I am aware that, should the station receive a complaint alleging that material contained in the advertising is libelous, slanderous or might otherwise impose any liability on the station, the station may cease airing the advertising while investigating such complaint, and the station may, in its sole discretion, elect not to run the entire schedule of advertising, in which case the station will refund to the sponsoring organization a pro rata share of the contract price reflecting those spots not aired. I agree to cooperate in providing any documentation necessary for claims made in the advertising, and agree to hold the station harmless for any loss the sponsoring organization may suffer should the complete advertising schedule not be aired on the station.

I am aware that a copy of this Order Form may be placed in the station's Political File for public inspection.

This station does not discriminate or permit discrimination on the basis of race or ethnicity in the placement of advertising.

Date: 4/22/2024	Signature: Name: Title: Address: Phone Number: Signature: Allen Ferd County Chair PO Box 293711
Accepted	☐ Accepted in Part (Confirmation Attached) ☐ Rejected
Date: 4.77-74	Signature: Authorized Station Representative